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All questions in PART- A are comoulsorv.

1. Fill in the blanks :

(a) For a rectangular hyperbola the value of eccentricity (e) is

(b) Focus ofthe parabola ;i2 =Y is

(c) The condition that the two lines having direction c,osines lr,mr,n, and l'r'mr,rt, are

perpendicular is

The ceotre ofthe circle x2 +y2 +2x 6l:0 is

If for a conic section s < 1 , then it is called

(d)

(e)

(f) Ii. t'n2* 
=

(g) A function /(x) is said to be tf f (-x) = f (.x) for all x.

(h) The domarn of .l(x) = --]-- o
x(x I 3)

I
(rl The 2nd derivative of v = le" is"2

0 I .f {*la* = o , ir /(:r) is function.
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Choose the correct answer :

1 .;
(a) The magnitude of r = i -3i -5k ts

(i) 3s (ii) J32 lrii;32

(b) The unit vector parallel to Si +Zi is

si + 2"i(ii) t '
29

(c) The value of Jrtd, l,

(i)1 (ii) o (ii,

s? +2.i

Jzs

t:-(rv) JJ)

(iv) None of these

5? +2i
.lzs

(iu)(i)

(d) If

(i)

/(x) = log(4x + S), then the value of /'(0) is

I ri1 f tiiit o (iv) I
55

,+t

te) [x"dx = 
] 

is valid for
" J n+l

(i) n=1 (ii) n*1 (ii| tt+-l (iv) For all values ofn

({) Direotion ratios of the line joining the points (1" -2,3) and (2' 3' -4) are

(D 1, 5, 6 (tt) 2, 5, -7 (iii) 1, o, 6 (iv) 1' 5 
' 

-'7

'1)

19) The value of fuU' 
* sinrl at / = 0 is

(r) 1 (ii) -i (iv) None of these.1(rrr) -

(h) The tangent to the circle x2 + y? =13 at (-2,-3) is

(i) 2x+3y+13--0 (ii) 3.r+2v-13=0 (iii) x+3v-13=0 (iv) None ofthese

(rJ It f(x)=1'z,S(x)=cosx , then /{g(x)} is

(i) cos'z.lr (ii) cosx'? (iiD -x'cosx (iv) None ofthese

(iii) +



(,) The derivative of

ax+b
(t) (tt)

v

(v) The value of

.__--
y=.,!ax'+bx+c

Zax+b+c

v

with respect to x is

(iiD 2ax+b (i") 2ax+b

3 Write True or Fatrse :

(i) Direction Cosines of Z- axis are 1, 0,0.

(ii) Definite integral can be expressed as the limit of a sum '

(iii) The maximum value of a function can not be less than its minimum value'

xt vt 25
(iv) Thelatusrecrum * i-; I is 7

I
I
le
0

'dx is l-L
e

4. Ansrver any two questions : 2x3=6

(a) Find the equation ofthe circle irhose centre is (4,5) and which passes tkough the centre

of the circle x2 +Y2 +4x-6Y*D=A

(b) Find the focus, equation to the directrix and the length of the latusrectum of the parabola

x2+10Y=Q.

(c) Prove that the line 3x - 2y = 8 touches the ellips e 3x2 + 4yz =16 '

5. Answer any one question I

(a) (i) Find the ratio in which the line segment joining the points (3,5,7) and ('2,4,6)

divided by YZ- plane.

(ii) If a =(4,2,-3),b

0r
(b) (i) The angle between two lines having Direction ratios a ,O,3 and'Z, -i ,4 is

. Find the value of a .

PART- B

= (-1,1,D, un6 6 =(0,3,1), find a.(6xc)

is
)

3

1x5=5

90



(ii) A particle is acted on by a constant force i +Z) - Oi and is displaoed from the

point (2 , 1 , -1) to (3 , 4 , 5). Find the amount of work done by fhe force' 3

2

7. Evaluate the limits (Any two ):

,. e" -e"(a) 'J$ ,

.. 2xr -3x+1
I I fn -=----(c) x+6 3x- +2x_7

Find L { Anvh,ro ):
dx

(a) xY =Y' (b) x =2t -l,y ==t'z (c) Y=-xsin-'x

d)v
lf .v = Acosnx + Bsinax , prove thal 77 

* n" I = tl

Find the maximum and mintmum values of ,f(r) = , * 
I

.r'

Integrate ( Any three ) :

-( r \3
(a) ll r '' I dr (b)" '\ x)

.. "/i*;-{T;(b) I'g 
"

8. 2x3=6

3

3x3=9

9.

10.

11.

(e)

l:--4x
J e'+7

I sin 'r
{ Jt -,'

3

= 8J and
-,

rdx(c) J (z+"),4J1

1

(d) lxe'dx
a)

I
i

12. (a) Using property ofdefinite integral prove that Jlogtanrdx= 0
0

(b) Using definite integral find the area of the region bounded by the parabola '!2
its latusrectum.

* * ** * )t,1.* ** * * * ++ A )t,k *

6. Examinethe continuityofthefollowingfunction ar x= 1,,:/aqi);*\

I x. o<r<r $( ).f(x\=\z-x, t<x<2 i?\ /,


